EAGRAROBREERT — 2 N— ABISH —F

202078300 (OK) 7EAH#3H

L 7R —M C3AKX

‘ [Riz] & ‘ [REBE] — | & (%) 1600M 4E

[AE4£] 1 7% :800,000 @ 2 3 :320,000 M

/

3 7&:200,000 @ 4 3% :120,000 M 5 & :80,000 M

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
NN HHE 146. -3-3- . - EEBRIK (KFF)
a2l 1oz B 5 i 1(4_6)0 3-3-3-2 | 40.7 4 (4;3) el
R:Z2g—-y>r7O0-x B:794FK FAE AKX
A 4 5 | FEEREH 1:46.5 12-11-6-4 | 40.8 | — 1 452 | EEFE ()
2|8l13EI~F 56.0 @ 1/2) O |
AN WY1 —T BIZ—FINEZRR akibae
Sy - 5 | PHIEE 1:46.6 6-5-7-7 | 41.1| — 3 408 | EFBBE (k)
3|8|12| ¥ TIARF ¥ 54.0 (172) v | @ mE
iErTAYY BIVFINANRT—L hAf HEER
. BTHE . 65— = JEF A (/)\HE)
4 S84 LFTTYZ S ey | T et
L84 LINT Ry 7X BTy HE77— L4
. HEIRTHEA 1:47.1 -7-7-7 | 41.4| — 424 | KEFH (KH)
5 J7EUT 5 54.0 (2 1/2) 8 6 (-2) fiaitd fd s
R:ZAX—b77)0> B:Zh EOL—Y— i R
TEE T, o1 2| - EEAIE (K3
slolskvans %5 | 38 A e R ) e
R:8— bR BE-KRTT17 J—HrTp—L
R . %%EWSF . — )\ — —_ _\L»:: (7(#)
7 Houx—T—FK # 6 e 1(;@)2 11-10-10-10| 41.5 12 zzg()) ;égz
LHTIRIAY BT TI—Nn— b ERr &
N KKK : - 4-4- — NEFFEE ()
8 IxLYY— I A KRS Bt e PG e
VLR YIYRIR BiHEIZULA e
. PR ZE 147, —-8-9- . — dEFE (k)
9 E AR o7 B 1(34/74)5 7-8-9-9 | 41.8 2 (4+548) EEEEE&&
Z:aR)IFrNIT—/ BTIIXRZX JT—IWKT 7 —L
S, = = 4 | BRE 1:47.6 1-1-1-1 | 42.3| — 8 447 | EER (K3H)
10057 7>¥%Yaty 53.0 (1/2) +1) %’Aiﬁ—ﬁ
R:Y=ZZXE4—3=24— BHLF1IT4— &% =k
. . R : alllEERn : —13-12- - SRR ()
» gl U1y hAO—x v 7| ElEEA 1(_3%8 13-13-12-12| 41.3 1 (4_414) i
R:7RYS ¥ L—> B:HLRKILNZ— N B4
= 5 > 4 5 | EEERKX 1:48.1 2-2-2-3 |42.8| — 10 a6 | EZFEDE (KH)
12[2[10| 77V =2l 54.0 (1 1/2) 45 |WTEE
L:Vv TRy b B:YaUIy b EBRT 7 — L
. s 7 | AKIEH 1:53.0 10-12-13-13| 45.5 | — 13 | 482 |=EFH (KH)
1311 74 htdl 54.0 (51%) a | SHEEE
L:I—-3>T747—F B:YL¥—TJL2FK HEE A
® I—F—@EBIERL
|3=7r= 7,10,11,4,5,12,3,2,9,1,6,13,8
2ol=5"= 7,10,11,4,12,5,2,3,9,6,13,1,8
3T—7— 7,10,11,4,5,13,(2,12),3,6,9,8,1
40—+ — 7,11,10,13,(4,5),(2,12),3,6,9,8,1
[ N
BB 1 640M | | 71 K 11-13 640 | | B = 7-8 670/ | | =& | 11-12-13 2,120M
7 B 1 180M 11-12 410 | | # B 7-8 1,630 | | & [ 11-13-12 13,770/
13 160 12-13 550M B = 11-13 1,980
12 1509 B H 11-13 3,840M

ARICOVWTRDTEEERROODE. TR LI,




